

HIGH ORDER EXPANSIONS IN QUASINEUTRAL LIMIT OF THE EULER-POISSON SYSTEM FOR A POTENTIAL FLOW

INGRID VIOLET

Laboratoire de Mathématiques, CNRS UMR 6620
Université Blaise Pascal (Clermont-Ferrand 2), 63177 Aubière cedex, France
violet@math.univ-bpclermont.fr

Abstract : We are interested in steady-state Euler-Poisson system for a potential flow used in the mathematical modeling of plasmas and semiconductors. In the case of quasineutral limit, boundary layers can appear. We study this limit by using an asymptotic expansion. We show the existence and uniqueness of each profile and give the justification of the asymptotic expansion up to any order.

Keywords : Steady-state Euler-Poisson system, potential and subsonic flow, quasineutral limit, asymptotic expansion and justification, semiconductors and plasmas.

AMS Subject Classification (2000) : 35B25, 35B40, 35C20, 35D05, 35J25, 35Q35.

1. INTRODUCTION

The hydrodynamic model is widely used in mathematical modeling and numerical simulation for plasmas [3] and semiconductors [15]. It consists in two non linear equations given by the conservation laws of momentum and density, called Euler equations, plus a Poisson equation for the electrostatic potential. Due to the hyperbolicity of the transient non linear Euler equations, the weak solution is only studied in one space dimension. In such a situation, the existence of global weak solution is shown in the set of bounded functions [14].

In this paper we only consider the unipolar steady-state case for a potential flow. Then the Euler-Poisson system reads as follows (see [5, 16, 17]) :

$$(1.1) \quad \frac{\varepsilon}{2} |\nabla \psi|^2 + h(n) = \phi + \frac{\varepsilon \psi}{\tau},$$

$$(1.2) \quad -\operatorname{div}(n \nabla \psi) = 0,$$

$$(1.3) \quad -\lambda^2 \Delta \phi = b(x) - n.$$

This system will be studied in an open and bounded domain Ω in \mathbb{R}^d ($d=2$ or $d=3$ in practice) with sufficiently smooth boundary Γ . Here $n = n(x)$, $\psi = \psi(x)$, $\phi = \phi(x)$ represent respectively the electron density, the velocity potential and the electrostatic potential. The function $h = h(n)$ is the enthalpy for the system and is defined by :

$$h'(n) = \frac{p'(n)}{n}, \quad n > 0, \quad \text{and } h(1) = 0,$$

where $p = p(n)$ is the pressure function, supposed to be sufficiently smooth and strictly increasing for $n > 0$. The function $b = b(x)$ represents the doping profile for a semiconductor and the ion density for a plasma. The parameters λ, ϵ, τ represent respectively the scaled Debye length, electron mass and relaxation time of the system. They are dimensionless and small compared to the characteristic length of physical interest. Then it is important to study the limits $\lambda \rightarrow 0, \epsilon \rightarrow 0, \tau \rightarrow 0$. In [17] we used asymptotic expansions to study the zero-electron-mass limit and the zero-relaxation-time limit and to show the convergence of the Euler-Poisson system to the incompressible Euler equations. Here we study the quasineutral limit $\lambda \rightarrow 0$. In all the following we take $\tau \equiv 1$ and we keep $\epsilon > 0$ as a small parameter independent of λ in the equations.

By eliminating ϕ of (1.1) and (1.3) and using (1.2) we have :

$$(1.4) \quad \begin{aligned} \Delta h(n) & - \frac{\epsilon}{n} \sum_{i,j=1}^d \psi_{x_i} \psi_{x_j} n_{x_i x_j} + \frac{\epsilon}{n^2} (\nabla \psi \cdot \nabla n)^2 + \frac{\epsilon}{n} (\nabla \psi \cdot \nabla n) \\ & - \frac{\epsilon}{n} \sum_{i,j=1}^d \psi_{x_i} \psi_{x_i x_j} n_{x_j} - \frac{1}{\lambda^2} (n - b) + \epsilon Q(\psi) = 0. \end{aligned}$$

where Q is given by :

$$(1.5) \quad Q(\psi) = \sum_{i,j=1}^d \psi_{x_i x_j}^2.$$

For $n > 0$, it is easy to see that (n, ψ, ϕ) is a smooth solution to the system (1.1)-(1.3) if and only if (n, ψ) is a smooth solution to (1.2) and (1.4). Moreover, for ψ given, the equation (1.4) is elliptic if and only if the flow is subsonic, i.e., the condition $|\nabla \psi| < \sqrt{p'(n)/\epsilon}$ holds.

We supplement the system (1.1)-(1.3) by Dirichlet boundary conditions :

$$(1.6) \quad n = \sum_{j=0}^m \lambda^j n_D^j + n_{D,\lambda}^m, \quad \psi = \sum_{j=0}^m \lambda^j \psi_D^j + \psi_{D,\lambda}^m, \quad \text{on } \Gamma = \partial\Omega,$$

where $n_{D,\lambda}^m$ and $\psi_{D,\lambda}^m$ are smooth enough and defined on $\bar{\Omega}$.

The Euler-Poisson system and its asymptotic limits have been studied by a lot of authors. In [5] it is shown the existence and uniqueness of solutions for a potential flow under an assumption on the smallness of data, which implies that the problem is in the subsonic region. In [16] the author shows that the smallness condition corresponds to the smallness of ϵ . Then the existence and uniqueness hold for large data provided that ϵ is small enough.

The quasineutral limit has been studied in several special cases. In one-dimensional steady-state Euler-Poisson system it was performed in [19] for well-prepared boundary data. The steady problem in several space variables for a potential flow without the formation of boundary layers was investigated in [16]. In [4] the authors use pseudo-differential techniques to study this limit in transient Euler-Poisson model. The quasineutral limit has also been studied in the bipolar case in the drift-diffusion equations (see [7, 8, 12]).

See also [2] for the study of this limit in a semi-linear Poisson equation in which the electron density is described by the Maxwell-Boltzmann relation. This relation is also used in [4].

The zero-electron-mass limit ($\varepsilon \rightarrow 0$) and the zero-relaxation-time limit ($\tau \rightarrow 0$) have also been studied a lot. See [1, 11, 17] for different results on these two limits. In [9], the authors study the combined relaxation-time limit and the vanishing Debye length.

This article is based on the method of asymptotic expansions presented in [18]. In [18] the justification of these asymptotic expansions is only given up to first order in the one-dimensional case. Here we will give their justification up to any order in the multidimensional case by using the Schauder fixed point Theorem. The main difficulty is to verify the assumptions in this theorem which are achieved by the Leray Schauder fixed point Theorem.

The paper is organised as follow. In Section 2, we give the formal asymptotic expansions and the systems verified by each boundary layer profiles under our assumptions. Section 3 is devoted to the justification up to any order of the asymptotic expansions.

2. FORMAL ASYMPTOTIC EXPANSIONS

In this section we study the formal asymptotic expansions of a solution to (1.1)-(1.3). We use for this the method of asymptotic expansions presented in [18]. We assume :

- (H1) $b \in C^\infty(\bar{\Omega})$, $0 < \underline{n} \leq b(x) \leq \bar{n}$, $x \in \bar{\Omega}$, \underline{n} , $\bar{n} \in \mathbb{R}$,
- (H2) $n_D^j \in C^\infty(\bar{\Omega})$ for $0 \leq j \leq m$,
- (H3) $\psi_D^j \in C^{2,\delta}(\bar{\Omega})$ for $0 \leq j \leq m$,
- (H4) $n_D^0(x) = b(x)$, $n_D^1(x) = 0$, $x \in \bar{\Omega}$,
- (H5) $(\lambda^{-m-1}n_{D,\lambda}^m)_{\lambda>0}$ is bounded in $W^{2,q}(\Omega)$, $q > \frac{d}{1-\delta}$, $\delta \in (0,1)$,
- (H6) $(\lambda^{-m+1}\psi_{D,\lambda}^m)_{\lambda>0}$ is bounded in $C^{2,\delta}(\bar{\Omega})$.

The assumption (H4) is a compatibility condition for the first and second order terms. It assures that there will not appear any boundary layers in these two terms. The case without any compatibility conditions presents some difficulties which we didn't succeed in this study (see Remark 3.2).

2.1. Internal expansion. Let :

$$n(x) = \sum_{k \geq 0} \lambda^k n_k(x); \quad \psi(x) = \sum_{k \geq 0} \lambda^k \psi_k(x); \quad \phi(x) = \sum_{k \geq 0} \lambda^k \phi_k(x).$$

We inject this into (1.1)-(1.3) and obtain :

$$(2.1) \quad \frac{\varepsilon}{2} |\nabla \left(\sum_{k \geq 0} \lambda^k \psi_k(x) \right)|^2 + h \left(\sum_{k \geq 0} \lambda^k n_k(x) \right) = \sum_{k \geq 0} \lambda^k \phi_k(x) + \varepsilon \sum_{k \geq 0} \lambda^k \psi_k(x),$$

$$(2.2) \quad -\operatorname{div} \left(\sum_{k \geq 0} \lambda^k n_k(x) \nabla \left(\sum_{k \geq 0} \lambda^k \psi_k(x) \right) \right) = 0,$$

$$(2.3) \quad -\lambda^2 \Delta \left(\sum_{k \geq 0} \lambda^k \phi_k(x) \right) = b(x) - \sum_{k \geq 0} \lambda^k n_k(x), \quad \text{in } \Omega.$$

Formally,

$$\begin{aligned} \operatorname{div}\left(\sum_{k \geq 0} \lambda^k n_k(x) \nabla\left(\sum_{k \geq 0} \lambda^k \psi_k(x)\right)\right) &= \sum_{k \geq 0} \lambda^k \left(\sum_{i=0}^k \operatorname{div}(n_i \nabla \psi_{k-i})\right), \\ |\nabla\left(\sum_{k \geq 0} \lambda^k \psi_k(x)\right)|^2 &= \sum_{k \geq 0} \lambda^k \left(\sum_{i=0}^k \nabla \psi_i \cdot \nabla \psi_{k-i}\right), \\ h\left(\sum_{k \geq 0} \lambda^k n_k(x)\right) &= \sum_{k \geq 0} \lambda^k h_k(n), \end{aligned}$$

where $n = (n_i)_{i \geq 0}$ and :

$$h_k(n) = \frac{1}{k!} \left. \frac{d^k h(\sum_{k \geq 0} \lambda^k n_k)}{d\lambda^k} \right|_{\lambda=0}, \quad k \geq 0.$$

As shown in [17] : $h_k(n) = h'(n_0)n_k + \bar{h}_k((n_i)_{0 \leq i \leq k-1})$, $k \geq 1$ where \bar{h}_k is smooth and $\bar{h}_1 \equiv 0$. Then :

$$h(n_\lambda) = h(n_0) + \sum_{k \geq 1} \lambda^k h'(n_0)n_k + \sum_{k \geq 2} \lambda^k \bar{h}_k((n_i)_{0 \leq i \leq k-1}).$$

Hence the system (2.1)-(2.3) becomes :

$$\begin{aligned} \frac{\varepsilon}{2} \sum_{k \geq 0} \lambda^k \left(\sum_{i=0}^k \nabla \psi_i \cdot \nabla \psi_{k-i}\right) + h(n_0) &+ \sum_{k \geq 1} \lambda^k h'(n_0)n_k + \sum_{k \geq 2} \lambda^k \bar{h}_k((n_i)_{0 \leq i \leq k-1}) \\ (2.4) \qquad \qquad \qquad &= \sum_{k \geq 0} \lambda^k \phi_k(x) + \varepsilon \sum_{k \geq 0} \lambda^k \psi_k(x), \end{aligned}$$

$$(2.5) \qquad \qquad \qquad - \sum_{k \geq 0} \lambda^k \left(\sum_{i=0}^k \operatorname{div}(n_i \nabla \psi_{k-i})\right) = 0,$$

$$(2.6) \qquad \qquad \qquad - \sum_{k \geq 2} \lambda^k \Delta \phi_{k-2} = b(x) - \sum_{k \geq 0} \lambda^k n_k.$$

We identify the order in λ and obtain the system verified by (n_k, ψ_k, ϕ_k) for all k . For $k = 0$ we have :

$$(2.7) \qquad \qquad \qquad \phi_0 = -\frac{\varepsilon}{2} |\nabla \psi_0|^2 - h(n_0) + \varepsilon \psi_0,$$

$$(2.8) \qquad \qquad \qquad \operatorname{div}(n_0 \nabla \psi_0) = 0,$$

$$(2.9) \qquad \qquad \qquad n_0 = b(x).$$

For $k = 1$ we have :

$$(2.10) \qquad \qquad \qquad \phi_1 = -\varepsilon \nabla \psi_0 \cdot \nabla \psi_1 - h'(n_0)n_1 + \varepsilon \psi_1,$$

$$(2.11) \qquad \qquad \qquad -\operatorname{div}(n_0 \nabla \psi_1) = \operatorname{div}(n_1 \nabla \psi_0),$$

$$(2.12) \qquad \qquad \qquad n_1 = 0.$$

And for $k \geq 2$:

$$(2.13) \quad \phi_k = -\frac{\varepsilon}{2} \sum_{i=0}^k \nabla \psi_i \cdot \nabla \psi_{k-i} - h'(n_0) n_k - \bar{h}_k((n_i)_{0 \leq i \leq k-1}) + \varepsilon \psi_k,$$

$$(2.14) \quad -\operatorname{div}(n_0 \nabla \psi_k) = \sum_{i=1}^k \operatorname{div}(n_i \nabla \psi_{k-i}),$$

$$(2.15) \quad n_k = \Delta \phi_{k-2}.$$

All the profiles (n_k, ψ_k, ϕ_k) can be determined, uniquely and sufficiently smooth, by induction on k with boundary conditions given later. First, we obtain n_0 by (2.9), then we have ψ_0 by (2.8) and ϕ_0 by (2.7). We use the same way for determining the solutions of (2.10)-(2.12) and (2.13)-(2.15). Then the internal solution is constructed. For $m \geq 2$ let us denote :

$$n_{I,m}^\lambda = \sum_{k=0}^m \lambda^k n_k; \quad \psi_{I,m}^\lambda = \sum_{k=0}^m \lambda^k \psi_k; \quad \phi_{I,m}^\lambda = \sum_{k=0}^m \lambda^k \phi_k.$$

By construction, if (n_k, ψ_k, ϕ_k) are smooth enough, then the error equations are of order $O(\lambda^{m+1})$. Since $n_k = \Delta \phi_{k-2}$, for $k \geq 2$, and is not necessarily equal to n_D^k on Γ , then a boundary layer can appear.

2.2. External expansion. We follow the notations in [6]. For $x \in \Omega$, we note $t(x)$ the distance from Γ to x and $s(x)$ the point of Γ nearest from x . For $\theta > 0$, let Ω_θ be the boundary layer of size θ :

$$\Omega_\theta = \{x \in \Omega; |x - y| < \theta, y \in \Gamma\}.$$

If θ is small enough, $s(x)$ is defined uniquely for all $x \in \Omega_\theta$. In Ω_θ , we define the fast variable by $\xi(x, \lambda) = t(x)/\lambda$. For $x \in \Omega_\theta$, let $\nu(x) = (\nu_1, \dots, \nu_d)$ the unit interior-directional normal vector of Γ passing from x . Then from :

$$t(x) = \|x - s(x)\|, \quad x - s(x) = t(x)\nu(x),$$

and due to the fact that for all $i = 1, \dots, d$, $\partial s(x)/\partial x_i$ is orthogonal to $\nu(x)$, it is easy to see that $\nabla_x t = \nu(x)$. Hence the partial derivative of a function $w(s(x), \xi(x, \lambda))$ may be decomposed as :

$$(2.16) \quad \frac{\partial w(s(x), \xi(x, \lambda))}{\partial x_i} = \lambda^{-1} \nu_i \frac{\partial w}{\partial \xi} + D_i w,$$

where D_i is a first order differential operator in s defined by : $D_i w = \nabla_s w \cdot \frac{\partial s}{\partial x_i}$. Similarly :

$$(2.17) \quad \frac{\partial^2 w(s(x), \xi(x, \lambda))}{\partial x_i \partial x_j} = \lambda^{-2} \nu_i \frac{\partial^2 w}{\partial \xi^2} + \lambda^{-1} D_{ji} \frac{\partial w}{\partial \xi} + D_j D_i w + \nabla_s w \cdot \frac{\partial^2 s}{\partial x_i \partial x_j},$$

where $D_{ji} = \nu_i D_j + \nu_j D_i + \partial \nu_i / \partial x_j$. Note that for all i, j we have : $D_{ji} = D_{ij}$.

For every function $w(x)$ defined in Ω_θ the equivalent function of (s, t) is designated by \tilde{w} i.e. $w(x) = \tilde{w}(s(x), t(x)) = \tilde{w}(s(x), \lambda \xi(x, \lambda))$. We develop $\tilde{w}(s(x), \lambda \xi(x, \lambda))$ formally to obtain :

$$\tilde{w}(s(x), \lambda \xi(x, \lambda)) = \tilde{w}(s(x), 0) + O(\lambda).$$

Let $\bar{w}(s) = \tilde{w}(s, 0)$. Then the ansatz of an approximate solution up to order m of (1.1)-(1.3) in Ω_θ are given by :

$$\begin{aligned}\tilde{n}_{a,m}^\lambda(x) &= n_{I,m}^\lambda(x) + \tilde{n}_{B,m}^\lambda(s(x), \xi(x), \lambda), \\ \tilde{\psi}_{a,m}^\lambda(x) &= \psi_{I,m}^\lambda(x) + \tilde{\psi}_{B,m}^\lambda(s(x), \xi(x), \lambda), \\ \tilde{\phi}_{a,m}^\lambda(x) &= \phi_{I,m}^\lambda(x) + \tilde{\phi}_{B,m}^\lambda(s(x), \xi(x), \lambda);\end{aligned}$$

where the boundary layers $(\tilde{n}_{B,m}^\lambda, \tilde{\psi}_{B,m}^\lambda, \tilde{\phi}_{B,m}^\lambda)$ have the expansions :

$$\tilde{n}_{B,m}^\lambda = \sum_{k=0}^m \lambda^k n_k^b, \quad \tilde{\psi}_{B,m}^\lambda = \sum_{k=0}^{m+1} \lambda^k \psi_k^b, \quad \tilde{\phi}_{B,m}^\lambda = \sum_{k=0}^m \lambda^k \phi_k^b,$$

in which each term $(n_k^b(s, \xi), \psi_k^b(s, \xi), \phi_k^b(s, \xi))$ will be chosen to decay exponentially when ξ tends to $+\infty$. They are determined by setting $(\tilde{n}_{a,m}^\lambda, \tilde{\psi}_{a,m}^\lambda, \tilde{\phi}_{a,m}^\lambda)$ in (1.1)-(1.3) and by identification of the order in λ . Let $\partial/\partial\nu = \sum_{i=1}^d \nu_i \partial/\partial x_i$. After computation we obtain :

$$\psi_0^b \equiv 0,$$

the system for $(n_0^b, \psi_1^b, \phi_0^b)$:

$$(S_0) \quad \begin{cases} (\bar{n}_0 + n_0^b) \frac{\partial^2 \psi_1^b}{\partial \xi^2} + \left(\frac{\partial \bar{\psi}_0}{\partial \nu} + \frac{\partial \psi_1^b}{\partial \xi} \right) \frac{\partial n_0^b}{\partial \xi} = 0, \\ \frac{\varepsilon}{2} \left(\frac{\partial \psi_1^b}{\partial \xi} \right)^2 + \varepsilon \frac{\partial \psi_1^b}{\partial \xi} \frac{\partial \bar{\psi}_0}{\partial \nu} + h(\bar{n}_0 + n_0^b) - \phi_0^b = \bar{\phi}_0 + \varepsilon \bar{\psi}_0, \\ \frac{\partial^2 \phi_0^b}{\partial \xi^2} = n_0^b, \end{cases}$$

and the system for $(n_k^b, \psi_{k+1}^b, \phi_k^b)$ with $k \geq 1$:

$$(S_k) \quad \begin{cases} \varepsilon \frac{\partial \psi_{k+1}^b}{\partial \xi} \left(\frac{\partial \psi_1^b}{\partial \xi} + \frac{\partial \bar{\psi}_0}{\partial \nu} \right) + h'(\bar{n}_0 + n_0^b) n_k^b - \phi_k^b = F_{1,k}(n_l^b, \psi_{l+1}^b, 0 \leq l \leq k-1), \\ (\bar{n}_0 + n_0^b) \frac{\partial^2 \psi_{k+1}^b}{\partial \xi^2} + \left(\frac{\partial \bar{\psi}_0}{\partial \nu} + \frac{\partial \psi_1^b}{\partial \xi} \right) \frac{\partial n_k^b}{\partial \xi} + n_k^b \frac{\partial^2 \psi_1^b}{\partial \xi^2} + \frac{\partial n_0^b}{\partial \xi} \frac{\partial \psi_{k+1}^b}{\partial \xi} = \\ F_{2,k}(n_l^b, \psi_{l+1}^b, 0 \leq l \leq k-1), \\ -\frac{\partial^2 \phi_k^b}{\partial \xi^2} + n_k^b = F_{3,k}(\phi_l^b, k-1 \leq l \leq k-2), \end{cases}$$

where $F_{i,k}$, $i = 1, 2, 3$, are given functions of $(n_l^b, \psi_{l+1}^b)_{0 \leq l \leq k-1}$ for $F_{1,k}$, $F_{2,k}$, and of $(\phi_l^b)_{k-1 \leq l \leq k-2}$ for $F_{3,k}$.

Hence the approximate solution is constructed in Ω_θ . To complete the definition of the approximate solution in $\bar{\Omega}$, let $\sigma \in C^\infty(0, \infty)$ be a smooth function such that $\sigma(t) = 1$ for $0 \leq t \leq \theta/2$ and $\sigma \equiv 0$ for $t \geq \theta$ and we define :

$$\begin{aligned}(n_{B,m}^\lambda(x), \psi_{B,m}^\lambda(x), \phi_{B,m}^\lambda(x)) &= \\ \begin{cases} (\tilde{n}_{B,m}^\lambda(s(x), t(x)/\lambda), \tilde{\psi}_{B,m}^\lambda(s(x)t(x)/\lambda), \tilde{\phi}_{B,m}^\lambda(s(x)t(x)/\lambda))\sigma(t(x)), & \text{for } x \in \Omega_\theta, \\ 0, & \text{for } x \in \Omega - \Omega_\theta. \end{cases}\end{aligned}$$

Then, $(n_{B,m}^\lambda, \psi_{B,m}^\lambda, \phi_{B,m}^\lambda)$ has the same regularity as $(\tilde{n}_{B,m}^\lambda, \tilde{\psi}_{B,m}^\lambda, \tilde{\phi}_{B,m}^\lambda)$. If each $(n_k^b(s, \xi), \psi_k^b(s, \xi), \phi_k^b(s, \xi))$ decays exponentially when ξ tends to $+\infty$ it is easy to see

that the difference between $(n_{B,m}^\lambda, \psi_{B,m}^\lambda, \phi_{B,m}^\lambda)$ and $(\tilde{n}_{B,m}^\lambda, \tilde{\psi}_{B,m}^\lambda, \tilde{\phi}_{B,m}^\lambda)$ is uniform of order of $e^{-\mu/\lambda}$ for a constant $\mu > 0$.

Finally, the boundary conditions (1.6) give for $s \in \Gamma$:

$$(2.18) \quad n_0 = n_D^0, n_1 = n_D^1, n_0^b(s, 0) = n_1^b(s, 0) = 0, \bar{n}_k(s) + n_k^b(s, 0) = n_D^k, k \geq 2,$$

$$(2.19) \quad \psi_0 = \psi_D^0, \psi_1 = \psi_D^1, \psi_2 = \psi_D^2, \psi_1^b(s, 0) = \psi_2^b(s, 0) = 0, \bar{\psi}_k(s) + \psi_k^b(s, 0) = \psi_D^k, k \geq 3.$$

We refer to [18] for the scheme of determination of $(n_k, \psi_k, \phi_k, n_k^b, \psi_{k+1}^b, \phi_k^b)$. We can show under the assumption (H4) :

$$n_0^b = n_1^b = \psi_1^b = \psi_2^b = 0.$$

The approximate solution up to order m is constructed in the form :

$$(2.20) \quad (n_\lambda^a, \psi_\lambda^a, \phi_\lambda^a) = (n_{I,m}^\lambda + n_{B,m}^\lambda, \psi_{I,m}^\lambda + \psi_{B,m}^\lambda, \phi_{I,m}^\lambda + \phi_{B,m}^\lambda), \text{ in } \bar{\Omega}.$$

By construction : $n_\lambda^a = \sum_{k=0}^m \lambda^k n_D^k$, $\psi_\lambda^a = \sum_{k=0}^m \lambda^k \psi_D^k$ on Γ and :

$$(2.21) \quad n_\lambda^a = n_0 + \sum_{j=2}^m \lambda^j (n_j + n_j^b),$$

$$(2.22) \quad \psi_\lambda^a = \psi_0 + \lambda \psi_1 + \lambda^2 \psi_2 + \sum_{j=3}^m \lambda^j (\psi_j + \psi_j^b) + \lambda^{m+1} \psi_{m+1}^b.$$

The existence and uniqueness of boundary layers (n_k^b, ψ_{k+1}^b) with exponential decay have been shown in [18] for each $k \geq 0$. Thus we obtain,

Theorem 2.1. *Under the assumptions (H1)-(H6), there exists a unique asymptotic expansion (2.20) up to order m , sufficiently smooth, satisfying (2.21)-(2.22).*

3. JUSTIFICATION OF THE QUASINEUTRAL LIMIT

We have seen in the introduction that (1.1)-(1.3), (1.6) is equivalent to (1.1)-(1.2), (1.4), (1.6). The main result of this paper is :

Theorem 3.1. *Under the assumption (H1)-(H6), for λ small enough, there is an $\varepsilon_0 > 0$ independent of λ such that for all $\varepsilon \in [0, \varepsilon_0]$, the problem (1.2), (1.4), (1.6) has a solution $(n_\lambda, \psi_\lambda) \in W^{2,q}(\Omega) \times C^{2,\delta}(\bar{\Omega})$ which satisfies :*

$$(3.1) \quad \|n_\lambda - n_\lambda^a\|_{W^{2,q}(\Omega)} \leq A\lambda^{m-1}, \quad \|\psi_\lambda - \psi_\lambda^a\|_{C^{2,\delta}(\bar{\Omega})} \leq A\lambda^{m-1},$$

where A is a constant independent of λ .

Remark 3.2. *Using equation (1.1), the continuity of h and the estimates from Theorem 3.1, we can easily show, for λ small enough :*

$$\|\phi_\lambda - \phi_\lambda^a\|_{C^{1,\delta}(\bar{\Omega})} \leq A\lambda^{m-1},$$

where A is a constant independent of λ .

Remark 3.3. *Without the assumption (H4), some boundary layers of order 0 and 1 appear, and we are not able to estimate $n_\lambda - n_\lambda^a$ and $\psi_\lambda - \psi_\lambda^a$ in the same spaces as in (3.1).*

Proof of Theorem 3.1 : We search a solution of the problem (1.2), (1.4), (1.6) of the form :

$$n_\lambda = n_\lambda^a + \lambda^{m-1}r_\lambda, \quad \psi_\lambda = \psi_\lambda^a + \lambda^{m-1}p_\lambda,$$

where n_λ^a and ψ_λ^a are the expansions defined in (2.21)-(2.22). To this end we define the two following operators :

$$\begin{aligned} N(n, \psi) &:= L(n, \psi) - \frac{1}{\lambda^2}(n - b) + \varepsilon Q(\psi), \\ M(n, \psi) &:= -\operatorname{div}(n \nabla \psi), \end{aligned}$$

where :

$$\begin{aligned} L(n, \psi) &:= \Delta h(n) - \frac{\varepsilon}{n} \sum_{i,j=1}^3 \psi_{x_i} \psi_{x_j} n_{x_i x_j} + \frac{\varepsilon}{n} \nabla \psi \cdot \nabla n + \frac{\varepsilon}{n^2} (\nabla \psi \cdot \nabla n)^2 \\ &- \frac{\varepsilon}{n} \sum_{i,j=1}^3 \psi_{x_i} \psi_{x_i x_j} n_{x_j}. \end{aligned}$$

Then the system (1.2),(1.4),(1.6) can be written as :

$$(3.2) \quad N(n_\lambda, \psi_\lambda)(x, \lambda) = 0,$$

$$(3.3) \quad M(n_\lambda, \psi_\lambda)(x, \lambda) = 0, \text{ in } \Omega,$$

$$(3.4) \quad n_\lambda = \sum_{k=0}^m \lambda^k n_D^k + n_{D,\lambda}^m, \quad \psi_\lambda = \sum_{k=0}^m \lambda^k \psi_D^k + \psi_{D,\lambda}^m, \text{ on } \Gamma.$$

By construction it is easy to check that (see [18]) :

$$(3.5) \quad N(n_\lambda^a, \psi_\lambda^a) = O(\lambda^{m-1}), \quad M(n_\lambda^a, \psi_\lambda^a) = O(\lambda^m), \text{ in } L^\infty(\Omega),$$

$$(3.6) \quad N(n_\lambda^a, \psi_\lambda^a) = O(\lambda^{m-2}), \quad M(n_\lambda^a, \psi_\lambda^a) = O(\lambda^{m-1}), \text{ in } C^1(\bar{\Omega}),$$

uniformly with respect to λ .

We search now the system verified by (r_λ, p_λ) by replacing formally n_λ by $n_\lambda^a + \lambda^{m-1}r_\lambda$ and ψ_λ by $\psi_\lambda^a + \lambda^{m-1}p_\lambda$ in (3.2)-(3.4). From (3.3) we have :

$$(3.7) \quad -\operatorname{div}[(n_\lambda^a + \lambda^{m-1}r_\lambda) \nabla p_\lambda] = \lambda^{-m+1}[-M(n_\lambda^a, \psi_\lambda^a) + \lambda^{m-1} \operatorname{div}(r_\lambda \nabla \psi_\lambda^a)].$$

Similarly, (3.2) gives :

$$\begin{aligned} &\Delta H(r_\lambda, x, \lambda) - \frac{\varepsilon}{n_\lambda^a + \lambda^{m-1}r_\lambda} \sum_{i,j=1}^3 \left(\frac{\partial \psi_\lambda^a}{\partial x_i} + \lambda^{m-1} \frac{\partial p_\lambda}{\partial x_i} \right) \left(\frac{\partial \psi_\lambda^a}{\partial x_j} + \lambda^{m-1} \frac{\partial p_\lambda}{\partial x_j} \right) \frac{\partial^2 r_\lambda}{\partial x_i \partial x_j} \\ &+ \frac{\varepsilon}{(n_\lambda^a + \lambda^{m-1}r_\lambda)^2} \left[\lambda^{m-1} (\nabla(\psi_\lambda^a + \lambda^{m-1}p_\lambda) \cdot \nabla r_\lambda)^2 + 2 \nabla(\psi_\lambda^a + \lambda^{m-1}p_\lambda) \cdot \nabla r_\lambda \times \right. \\ &\left. (\nabla \psi_\lambda^a \cdot \nabla n_\lambda^a + \lambda^{m-1} \nabla p_\lambda \cdot \nabla n_\lambda^a) \right] + \frac{\varepsilon}{n_\lambda^a + \lambda^{m-1}r_\lambda} \nabla(\psi_\lambda^a + \lambda^{m-1}p_\lambda) \cdot \nabla r_\lambda \\ (3.8) \quad &- \frac{\varepsilon}{n_\lambda^a + \lambda^{m-1}r_\lambda} \sum_{i,j=1}^3 \left(\frac{\partial \psi_\lambda^a}{\partial x_i} + \lambda^{m-1} \frac{\partial p_\lambda}{\partial x_i} \right) \left(\frac{\partial^2 \psi_\lambda^a}{\partial x_i \partial x_j} + \lambda^{m-1} \frac{\partial^2 p_\lambda}{\partial x_i \partial x_j} \right) \frac{\partial r_\lambda}{\partial x_j} \\ &- \frac{1}{\lambda^2} r_\lambda (1 - \lambda^2 \beta(r_\lambda, x)) = \frac{-\lambda^{-m+1} n_\lambda^a}{n_\lambda^a + \lambda^{m-1} r_\lambda} N(n_\lambda^a, \psi_\lambda^a) - g_1(n_\lambda^a, \psi_\lambda^a, r_\lambda, p_\lambda) - g_2(n_\lambda^a, \psi_\lambda^a, r_\lambda) \end{aligned}$$

with :

$$\begin{aligned}
H(r_\lambda, x, \lambda) &:= r_\lambda \int_0^1 h'(n_\lambda^a(x) + \lambda^{m-1}r_\lambda t) dt, \\
g_1(n_\lambda^a, \psi_\lambda^a, r_\lambda, p_\lambda) &:= -\frac{\varepsilon}{n_\lambda^a + \lambda^{m-1}r_\lambda} \sum_{i,j=1}^3 \left[\frac{\partial \psi_\lambda^a}{\partial x_i} \frac{\partial p_\lambda}{\partial x_j} + \frac{\partial p_\lambda}{\partial x_i} \left(\frac{\partial \psi_\lambda^a}{\partial x_j} + \lambda^{m-1} \frac{\partial p_\lambda}{\partial x_j} \right) \right] \frac{\partial^2 n_\lambda^a}{\partial x_i \partial x_j} \\
&+ \frac{\varepsilon}{(n_\lambda^a + \lambda^{m-1}r_\lambda)^2} \left[\lambda^{m-1} (\nabla p_\lambda \cdot \nabla n_\lambda^a)^2 + 2(\nabla \psi_\lambda^a \cdot \nabla n_\lambda^a)(\nabla p_\lambda \cdot \nabla n_\lambda^a) \right] \\
&+ \frac{\varepsilon}{n_\lambda^a + \lambda^{m-1}r_\lambda} \nabla p_\lambda \cdot \nabla n_\lambda^a - \frac{\varepsilon}{n_\lambda^a + \lambda^{m-1}r_\lambda} \left[\sum_{i,j=1}^3 \frac{\partial \psi_\lambda^a}{\partial x_i} \frac{\partial n_\lambda^a}{\partial x_j} \frac{\partial^2 p_\lambda}{\partial x_i \partial x_j} \right. \\
&+ \left. \sum_{i,j=1}^3 \frac{\partial p_\lambda}{\partial x_i} \frac{\partial n_\lambda^a}{\partial x_j} \left(\frac{\partial^2 \psi_\lambda^a}{\partial x_i \partial x_j} + \lambda^{m-1} \frac{\partial^2 p_\lambda}{\partial x_i \partial x_j} \right) \right] \\
&+ \varepsilon \left[\lambda^{m-1} Q(p_\lambda) + 2 \sum_{i,j=1}^3 \frac{\partial^2 \psi_\lambda^a}{\partial x_i \partial x_j} \frac{\partial^2 p_\lambda}{\partial x_i \partial x_j} \right], \\
g_2(n_\lambda^a, \psi_\lambda^a, r_\lambda) &:= -\frac{\varepsilon r_\lambda}{n_\lambda^a (n_\lambda^a + \lambda^{m-1}r_\lambda)^2} (\nabla \psi_\lambda^a \cdot \nabla n_\lambda^a)^2 + \frac{\varepsilon r_\lambda}{n_\lambda^a + \lambda^{m-1}r_\lambda} Q(\psi_\lambda^a),
\end{aligned}$$

and,

$$\beta(r_\lambda, x) = \frac{1}{n_\lambda^a(x) + \lambda^{m-1}r_\lambda} \Delta h(n_\lambda^a(x)) - \frac{1}{\lambda^2(n_\lambda^a(x) + \lambda^{m-1}r_\lambda)} (n_\lambda^a(x) - b(x)).$$

From (1.6) the boundary conditions associated to (3.7)-(3.8) are :

$$(3.9) \quad p_\lambda = \lambda^{-m+1} \psi_{D,\lambda}^m, \quad r_\lambda = \lambda^{-m+1} n_{D,\lambda}^m, \quad \text{on } \Gamma.$$

Note that by definition, using the assumptions, the application $H(\cdot, x, \lambda) : r_\lambda \mapsto H(r_\lambda, x, \lambda)$ is continuous and strictly increasing and then invertible.

To prove Theorem 3.1, it suffices to prove the following Lemma.

Lemma 3.4. *Under the assumptions (H1)-(H6), for λ small enough, there is an $\varepsilon_0 > 0$ independent of λ such that for all $\varepsilon \in [0, \varepsilon_0]$, the problem (3.7)-(3.9) has a solution $(r_\lambda, p_\lambda) \in W^{2,q}(\Omega) \times C^{2,\delta}(\bar{\Omega})$ which satisfies :*

$$\|r_\lambda\|_{W^{2,q}(\Omega)} \leq A_1, \quad \|p_\lambda\|_{C^{2,\delta}(\bar{\Omega})} \leq A_1,$$

where A_1 is a constant independent of λ .

Proof : Let $\sigma_\lambda \in S$ with :

$$S = \{\rho \in C^{1,\delta}(\bar{\Omega}); \|\rho\|_{C^{1,\delta}(\bar{\Omega})} \leq K\},$$

where K is a constant independent of λ which will be fixed later. Here S is a closed and convex set. We define the mapping $T : \sigma_\lambda \mapsto p_\lambda \mapsto r_\lambda$ by :

(A) the solution of :

$$\begin{aligned}
-\operatorname{div}[(n_\lambda^a + \lambda^{m-1}\sigma_\lambda)\nabla p_\lambda] &= f_1(\sigma_\lambda, \psi_\lambda^a, n_\lambda^a), \quad \text{in } \Omega, \\
p_\lambda &= \lambda^{-m+1} \psi_{D,\lambda}^m, \quad \text{on } \Gamma
\end{aligned}$$

with

$$f_1(\sigma_\lambda, \psi_\lambda^a, n_\lambda^a) := \lambda^{-m+1} \left[-M(n_\lambda^a, \psi_\lambda^a) + \lambda^{m-1} \operatorname{div}(\sigma_\lambda \nabla \psi_\lambda^a) \right];$$

(B) let $r_\lambda = G(v_\lambda, x, \lambda)$ where $G(\cdot, x, \lambda) = H^{-1}(\cdot, x, \lambda)$ with v_λ being solution of :

$$\begin{aligned} \Delta v_\lambda &- \frac{\varepsilon G'(H(\sigma_\lambda, x, \lambda), x, \lambda)}{n_\lambda^a + \lambda^{m-1} \sigma_\lambda} \sum_{i,j=1}^3 \frac{\partial \psi_\lambda}{\partial x_i} \frac{\partial \psi_\lambda}{\partial x_j} \frac{\partial^2 v_\lambda}{\partial x_i \partial x_j} \\ &- \frac{\varepsilon G''(H(\sigma_\lambda, x, \lambda), x, \lambda)}{(n_\lambda^a + \lambda^{m-1} \sigma_\lambda) G'(H(\sigma_\lambda, x, \lambda), x, \lambda)} \sum_{i,j=1}^3 \frac{\partial \psi_\lambda}{\partial x_i} \frac{\partial \psi_\lambda}{\partial x_j} \frac{\partial \sigma_\lambda}{\partial x_i} \frac{\partial v_\lambda}{\partial x_j} \\ &- \frac{\varepsilon}{n_\lambda^a + \lambda^{m-1} \sigma_\lambda} \sum_{i,j=1}^3 \frac{\partial \psi_\lambda}{\partial x_i} \frac{\partial \psi_\lambda}{\partial x_j} \left(\frac{\partial G'(H(\sigma_\lambda, x, \lambda), x, \lambda)}{\partial x_j} \frac{\partial v_\lambda}{\partial x_i} + \frac{\partial G'(H(\sigma_\lambda, x, \lambda), x, \lambda)}{\partial x_i} \frac{\partial v_\lambda}{\partial x_j} \right) \\ &- \frac{\varepsilon G'''(H(\sigma_\lambda, x, \lambda), x, \lambda)}{n_\lambda^a + \lambda^{m-1} \sigma_\lambda} \sum_{i,j=1}^3 \frac{\partial \psi_\lambda}{\partial x_i} \frac{\partial \psi_\lambda}{\partial x_j} \frac{\partial H(\sigma_\lambda, x, \lambda)}{\partial x_i} \frac{\partial v_\lambda}{\partial x_j} \\ &+ \frac{\varepsilon G'(H(\sigma_\lambda, x, \lambda), x, \lambda)}{(n_\lambda^a + \lambda^{m-1} \sigma_\lambda)^2} \left[\lambda^{m-1} (\nabla \psi_\lambda \cdot \nabla \sigma_\lambda) \nabla \psi_\lambda + 2(\nabla \psi_\lambda^a \cdot \nabla n_\lambda^a + \lambda^{m-1} \nabla p_\lambda \cdot \nabla n_\lambda^a) \nabla \psi_\lambda \right] \cdot \nabla v_\lambda \\ &+ \frac{\varepsilon G'(H(\sigma_\lambda, x, \lambda), x, \lambda)}{n_\lambda^a + \lambda^{m-1} \sigma_\lambda} \nabla \psi_\lambda \cdot \nabla v_\lambda - \frac{\varepsilon G'(H(\sigma_\lambda, x, \lambda), x, \lambda)}{n_\lambda^a + \lambda^{m-1} \sigma_\lambda} \sum_{i,j=1}^3 \frac{\partial \psi_\lambda}{\partial x_i} \frac{\partial^2 \psi_\lambda}{\partial x_i \partial x_j} \frac{\partial v_\lambda}{\partial x_j} \\ &- \frac{1}{\lambda^2} G(v_\lambda, x, \lambda) (1 - \lambda^2 \beta(\sigma_\lambda, x)) = f_2(\sigma_\lambda, x, \lambda), \quad x \in \Omega, \\ &v_\lambda = H(\lambda^{-m+1} n_{D,\lambda}^m, x, \lambda), \quad \text{on } \Gamma, \end{aligned}$$

where we note :

$$G'(v_\lambda, x, \lambda) = \frac{\partial G}{\partial v_\lambda}(v_\lambda, x, \lambda), \quad G''(v_\lambda, x, \lambda) = \frac{\partial^2 G}{\partial v_\lambda^2}(v_\lambda, x, \lambda),$$

$$\begin{aligned} f_2(\sigma_\lambda, x, \lambda) &= -\lambda^{-m+1} \frac{n_\lambda^a}{n_\lambda^a + \lambda^{m-1} \sigma_\lambda} N(n_\lambda^a, \psi_\lambda^a) - g_1(n_\lambda^a, \psi_\lambda^a, \sigma_\lambda, p_\lambda) \\ &- g_2(n_\lambda^a, \psi_\lambda^a, \sigma_\lambda) + \frac{\varepsilon}{n_\lambda^a + \lambda^{m-1} \sigma_\lambda} \sum_{i,j=1}^3 \frac{\partial \psi_\lambda}{\partial x_i} \frac{\partial \psi_\lambda}{\partial x_j} \frac{\partial^2 G}{\partial x_i \partial x_j}(H(\sigma_\lambda, x, \lambda), x, \lambda) \\ &- \frac{\varepsilon}{(n_\lambda^a + \lambda^{m-1} \sigma_\lambda)^2} \left[\lambda^{m-1} (\nabla \psi_\lambda \cdot \nabla \sigma_\lambda) \nabla \psi_\lambda + 2(\nabla \psi_\lambda^a \cdot \nabla n_\lambda^a + \lambda^{m-1} \nabla p_\lambda \cdot \nabla n_\lambda^a) \nabla \psi_\lambda \right] \\ &\quad \cdot \nabla_x G(H(\sigma_\lambda, x, \lambda), x, \lambda) \\ &- \frac{\varepsilon}{n_\lambda^a + \lambda^{m-1} \sigma_\lambda} \nabla \psi_\lambda \cdot \nabla_x G(H(\sigma_\lambda, x, \lambda), x, \lambda) \\ &+ \frac{\varepsilon}{n_\lambda^a + \lambda^{m-1} \sigma_\lambda} \sum_{i,j=1}^3 \frac{\partial \psi_\lambda}{\partial x_i} \frac{\partial^2 \psi_\lambda}{\partial x_i \partial x_j} \frac{\partial G}{\partial x_j}(H(\sigma_\lambda, x, \lambda), x, \lambda). \end{aligned}$$

By construction n_λ^a and ψ_λ^a being sufficiently smooth, $f_1 \in C^{0,\delta}(\bar{\Omega})$ and is bounded in $C^{0,\delta}(\bar{\Omega})$ uniformly in λ . Moreover by assumption $n_0 \geq \underline{n} > 0$, hence for λ small enough

we have : $n_\lambda^a + \lambda^{m-1}\sigma_\lambda \geq \frac{1}{2}\underline{n} > 0$. Finally, using the Theorem 6.6 in [10] we obtain that the problem (A) has a unique solution $p_\lambda \in C^{2,\delta}(\bar{\Omega})$ and :

$$\|p_\lambda\|_{C^{2,\delta}(\bar{\Omega})} \leq C(K),$$

with $C(K)$ a constant independent of λ . Therefore, there exists $\varepsilon_1 > 0$, independent of λ , such that for all $\varepsilon \in [0, \varepsilon_1]$, (B) is an elliptic problem.

Here, we cannot use the classical result used in [5] due to the fact that the function G depends not only on v_λ , but also on the variable x . The idea here is to use the Leray-Schauder fixed point Theorem to show first the existence and boundedness of solutions v_λ to (B). This implies the existence and boundedness of $r_\lambda = G(v_\lambda, x, \lambda)$ which are needed to prove that T is an application from S to S , and then to apply the Schauder fixed point Theorem. More precisely, we use the Leray-Schauder fixed point Theorem to prove the following Lemma.

Lemma 3.5. *Under the assumptions (H1)-(H6), for λ small enough, there is an $\varepsilon_0 > 0$, independent of λ such that for all $\varepsilon \in [0, \varepsilon_0]$, (B) has a unique solution $v_\lambda \in W^{2,q}(\Omega)$ which satisfies :*

$$\|v_\lambda\|_{W^{2,q}(\Omega)} \leq A_2, \text{ with } A_2 \text{ independent of } \lambda, K.$$

Proof : As mention previously, to prove this lemma, we will use the Leray-Schauder fixed point theorem. Let $\tau \in [0, 1]$ and $w \in W^{2,q}(\Omega)$. We define the application $\tilde{T} : W^{2,q}(\Omega) \times [0, 1] \rightarrow C^{1,\delta}(\bar{\Omega})$ by $(w, \tau) \mapsto v$ where v solves the problem :

$$\begin{aligned} \Delta v - \frac{\varepsilon G'(H(\sigma_\lambda, x, \lambda), x, \lambda)}{n_\lambda^a + \lambda^{m-1}\sigma_\lambda} \sum_{i,j=1}^3 \frac{\partial \psi_\lambda}{\partial x_i} \frac{\partial \psi_\lambda}{\partial x_j} \frac{\partial^2 v}{\partial x_i \partial x_j} \\ - \frac{\tau \varepsilon G''(H(\sigma_\lambda, x, \lambda), x, \lambda)}{(n_\lambda^a + \lambda^{m-1}\sigma_\lambda) G'(H(\sigma_\lambda, x, \lambda), x, \lambda)} \sum_{i,j=1}^3 \frac{\partial \psi_\lambda}{\partial x_i} \frac{\partial \psi_\lambda}{\partial x_j} \frac{\partial \sigma_\lambda}{\partial x_i} \frac{\partial w}{\partial x_j} \\ - \frac{\tau \varepsilon}{n_\lambda^a + \lambda^{m-1}\sigma_\lambda} \sum_{i,j=1}^3 \frac{\partial \psi_\lambda}{\partial x_i} \frac{\partial \psi_\lambda}{\partial x_j} \left(\frac{\partial G'(H(\sigma_\lambda, x, \lambda), x, \lambda)}{\partial x_j} \frac{\partial w}{\partial x_i} + \frac{\partial G'(H(\sigma_\lambda, x, \lambda), x, \lambda)}{\partial x_i} \frac{\partial w}{\partial x_j} \right) \\ - \frac{\tau \varepsilon G''(H(\sigma_\lambda, x, \lambda), x, \lambda)}{n_\lambda^a + \lambda^{m-1}\sigma_\lambda} \sum_{i,j=1}^3 \frac{\partial \psi_\lambda}{\partial x_i} \frac{\partial \psi_\lambda}{\partial x_j} \frac{\partial H(\sigma_\lambda, x, \lambda)}{\partial x_i} \frac{\partial w}{\partial x_j} \\ + \frac{\tau \varepsilon G'(H(\sigma_\lambda, x, \lambda), x, \lambda)}{(n_\lambda^a + \lambda^{m-1}\sigma_\lambda)^2} \left[\lambda^{m-1} (\nabla \psi_\lambda \cdot \nabla \sigma_\lambda) \nabla \psi_\lambda + 2 (\nabla \psi_\lambda^a \cdot \nabla n_\lambda^a + \lambda^{m-1} \nabla p_\lambda \cdot \nabla n_\lambda^a) \nabla \psi_\lambda \right] \cdot \nabla w \\ + \frac{\tau \varepsilon G'(H(\sigma_\lambda, x, \lambda), x, \lambda)}{n_\lambda^a + \lambda^{m-1}\sigma_\lambda} \nabla \psi_\lambda \cdot \nabla w - \frac{\tau \varepsilon G'(H(\sigma_\lambda, x, \lambda), x, \lambda)}{n_\lambda^a + \lambda^{m-1}\sigma_\lambda} \sum_{i,j=1}^3 \frac{\partial \psi_\lambda}{\partial x_i} \frac{\partial^2 \psi_\lambda}{\partial x_i \partial x_j} \frac{\partial w}{\partial x_j} \\ - \frac{\tau}{\lambda^2} G(w, x, \lambda) (1 - \lambda^2 \beta(\sigma_\lambda, x)) = \tau f_2(\sigma_\lambda, x, \lambda), \quad x \in \Omega, \\ v = \tau H(\lambda^{-m+1} n_{D,\lambda}^m, x, \lambda), \quad \text{on } \Gamma. \end{aligned}$$

This problem is elliptic and admits a unique solution for ε small enough, hence \tilde{T} is well-defined. We have : $\tilde{T}(w, 0) = v_1$ where v_1 is a solution of the linear problem :

$$\Delta v_1 - \frac{\varepsilon G'(H(\sigma_\lambda, x, \lambda), x, \lambda)}{n_\lambda^a + \lambda^{m-1}\sigma_\lambda} \sum_{i,j=1}^3 \frac{\partial \psi_\lambda}{\partial x_i} \frac{\partial \psi_\lambda}{\partial x_j} \frac{\partial^2 v_1}{\partial x_i \partial x_j} = 0$$

$$v_1 = 0, \text{ on } \Gamma.$$

Then $v_1 = 0$ and hence $\tilde{T}(w, 0) = 0$. Furthermore, it is not difficult to check that \tilde{T} is continuous and also compact (due to the compact injection from $W^{2,q}(\Omega)$ to $C^{1,\delta}(\bar{\Omega})$).

To achieve the proof of Lemma 3.5, we need to prove that if v_2 is a fixed point of \tilde{T} then we have

$$\|v_2\|_{W^{2,q}(\Omega)} \leq A_3,$$

with A_3 being independent of λ , K . This is the statement of Lemma 3.6. Since its proof being technical, it is moved to Appendix.

Lemma 3.6. *Assuming (H1)-(H6), let v_2 be a fixed point of \tilde{T} . Then for λ small enough there is an $\varepsilon_0 > 0$, independent of λ such that for all $\varepsilon \in [0, \varepsilon_0]$:*

$$\|v_2\|_{W^{2,q}(\Omega)} \leq A_3, \quad \forall \varepsilon \in [0, 1],$$

where A_3 is a constant independent of λ and K .

Then by the Leray-Schauder fixed point theorem, for λ small enough, and $\varepsilon \leq \varepsilon_0$, ε_0 independent of λ , $\tilde{T}_1 = \tilde{T}(w, 1)$ has a fixed point $v_\lambda \in W^{2,q}(\Omega)$ such that :

$$\|v_\lambda\|_{W^{2,q}(\Omega)} \leq A_2, \text{ with } A_2 \text{ independent of } \lambda, K.$$

By definition of \tilde{T} , v_λ is a solution to the problem (B). For the uniqueness of solution, we assume that there exist two solutions $v_{\lambda,1}, v_{\lambda,2}$, we subtract the two systems. Using Theorem 9.15 in [10], we show that the obtained system has the unique solution zero. This gives $v_{\lambda,1} = v_{\lambda,2}$, and then we obtain the uniqueness of solutions for (B). This completes the proof of Lemma 3.5.

Now using Lemma 3.5 and the injection $W^{2,q}(\Omega) \hookrightarrow C^{1,\delta}(\bar{\Omega})$, with $K = cA_2$, where c is the injection constant, we obtain $v_\lambda \in S$ which implies $r_\lambda \in S$ and then $T : S \rightarrow S$. To complete the verification of the assumptions in the Schauder fixed point Theorem for T we need to show that T is continuous and compact. This is the statement of the following Lemma.

Lemma 3.7. *The application T , as an application from $C^{1,\delta}(\bar{\Omega})$ to $C^{1,\delta}(\bar{\Omega})$, is continuous and compact.*

Proof :

We define $T = I \circ G(\cdot, x, \lambda) \circ \chi \circ \gamma$ by :

$$I : W^{2,q}(\Omega) \hookrightarrow C^{1,\delta}(\bar{\Omega}), \text{ which is continuous and compact,}$$

$$G(\cdot, x, \lambda) : v_\lambda \mapsto r_\lambda, \text{ which is continuous by assumption,}$$

$$\gamma : C^{1,\delta}(\bar{\Omega}) \longrightarrow C^{2,\delta}(\bar{\Omega}), \sigma_\lambda \mapsto p_\lambda, \text{ where } p_\lambda \text{ is solution of (A),}$$

$$\chi : C^{2,\delta}(\bar{\Omega}) \longrightarrow W^{2,q}(\Omega), p_\lambda \mapsto v_\lambda, \text{ where } v_\lambda \text{ is solution of (B).}$$

We have to show that χ and γ are continuous.

Let $p_{\lambda,1}$ and $p_{\lambda,2}$ be two solutions of (A). Then by subtraction of the two systems we obtain the following one :

$$\begin{aligned} -\operatorname{div}[(n_\lambda^a + \lambda^{m-1}\sigma_{\lambda,1})\nabla(p_{\lambda,1} - p_{\lambda,2})] &= f, \text{ in } \Omega, \\ p_{\lambda,1} - p_{\lambda,2} &= 0, \text{ on } \Gamma, \end{aligned}$$

with :

$$f = f_1(\sigma_{\lambda,1}, \psi_\lambda^a, n_\lambda^a) - f_1(\sigma_{\lambda,2}, \psi_\lambda^a, n_\lambda^a) - \lambda^{m-1}\operatorname{div}[(\sigma_{\lambda,1} - \sigma_{\lambda,2})\nabla p_{\lambda,2}].$$

It is clear that :

$$\|\lambda^{m-1}\operatorname{div}[(\sigma_{\lambda,1} - \sigma_{\lambda,2})\nabla p_{\lambda,2}]\|_{C^{0,\delta}(\bar{\Omega})} \leq \tilde{C}\|\sigma_{\lambda,1} - \sigma_{\lambda,2}\|_{C^{1,\delta}(\bar{\Omega})},$$

since $\|p_{\lambda,2}\|_{C^{2,\delta}(\bar{\Omega})} \leq \tilde{C}$.

Moreover, by definition we have :

$$f_1(\sigma_{\lambda,1}, \psi_\lambda^a, n_\lambda^a) - f_1(\sigma_{\lambda,2}, \psi_\lambda^a, n_\lambda^a) = \operatorname{div}[(\sigma_{\lambda,1} - \sigma_{\lambda,2})\nabla \psi_\lambda^a],$$

and by construction : $\|\psi_\lambda^a\|_{C^{2,\delta}(\bar{\Omega})} \leq \tilde{C}$. Then

$$\|f_1(\sigma_{\lambda,1}, \psi_\lambda^a, n_\lambda^a) - f_1(\sigma_{\lambda,2}, \psi_\lambda^a, n_\lambda^a)\|_{C^{0,\delta}(\bar{\Omega})} \leq \tilde{C}\|\sigma_{\lambda,1} - \sigma_{\lambda,2}\|_{C^{1,\delta}(\bar{\Omega})}.$$

Hence we obtain that :

$$\|f\|_{C^{0,\delta}(\bar{\Omega})} \leq \tilde{C}\|\sigma_{\lambda,1} - \sigma_{\lambda,2}\|_{C^{1,\delta}(\bar{\Omega})}.$$

Using Theorem 6.6 in [10]

$$\|p_{\lambda,1} - p_{\lambda,2}\|_{C^{2,\delta}(\bar{\Omega})} \leq \|f\|_{C^{0,\delta}(\bar{\Omega})}.$$

Hence :

$$\|p_{\lambda,1} - p_{\lambda,2}\|_{C^{2,\delta}(\bar{\Omega})} \leq \tilde{C}\|\sigma_{\lambda,1} - \sigma_{\lambda,2}\|_{C^{1,\delta}(\bar{\Omega})},$$

and the application γ is continuous from $C^{1,\delta}(\bar{\Omega})$ to $C^{2,\delta}(\bar{\Omega})$.

In a same way, with the pressure function p_λ smooth enough we obtain that χ is a continuous application from $C^{2,\delta}(\bar{\Omega})$ to $W^{2,q}(\Omega)$. Therefore, T is continuous. The application I being compact, we have that T is also compact. This completes the proof of Lemma 3.7.

Finally all the assumptions in the Schauder fixed point Theorem are satisfied. As a consequence, for λ small enough and $\varepsilon \leq \varepsilon_0$, ε_0 being independent of λ , T has a fixed point. This completes the proof of Lemma 3.4.

Theorem 3.8. *Assume (H1)-(H6). If in addition, $(\lambda^{-m-1}n_{D,\lambda}^m)_{\lambda>0}$ is bounded in $W^{2,\infty}(\Omega)$, and $(\lambda^{-m-1}\psi_{D,\lambda}^m)_{\lambda>0}$ is bounded in $W^{1,q}(\Omega)$. Then,*

$$\|n_\lambda - n_\lambda^a\|_{L^\infty(\Omega)} \leq A_4\lambda^{m+1}, \quad \|\psi_\lambda - \psi_\lambda^a\|_{W^{1,q}(\Omega)} \leq A_4\lambda^{m+1},$$

where A_4 is a constant independent of λ .

Since the proof uses notations defined in the proof of Lemma 3.6, it is also moved in Appendix.

Appendix :

Proof of Lemma 3.6.

Let v_2 be a fixed point of \tilde{T} . Let :

$$\begin{aligned}
\tilde{L}(\tau, \sigma_\lambda, n_\lambda^a, \psi_\lambda^a, p_\lambda)v_2 &:= -\Delta v_2 + \frac{\varepsilon G'(H(\sigma_\lambda, x, \lambda), x, \lambda)}{n_\lambda^a + \lambda^{m-1}\sigma_\lambda} \sum_{i,j=1}^3 \frac{\partial \psi_\lambda}{\partial x_i} \frac{\partial \psi_\lambda}{\partial x_j} \frac{\partial^2 v_2}{\partial x_i \partial x_j} \\
&+ \frac{\tau \varepsilon G''(H(\sigma_\lambda, x, \lambda), x, \lambda)}{(n_\lambda^a + \lambda^{m-1}\sigma_\lambda) G'(H(\sigma_\lambda, x, \lambda), x, \lambda)} \sum_{i,j=1}^3 \frac{\partial \psi_\lambda}{\partial x_i} \frac{\partial \psi_\lambda}{\partial x_j} \frac{\partial \sigma_\lambda}{\partial x_i} \frac{\partial v_2}{\partial x_j} \\
&+ \frac{\tau \varepsilon}{n_\lambda^a + \lambda^{m-1}\sigma_\lambda} \sum_{i,j=1}^3 \frac{\partial \psi_\lambda}{\partial x_i} \frac{\partial \psi_\lambda}{\partial x_j} \left(\frac{\partial G'(H(\sigma_\lambda, x, \lambda), x, \lambda)}{\partial x_j} \frac{\partial v_2}{\partial x_i} \right. \\
&\qquad\qquad\qquad \left. + \frac{\partial G'(H(\sigma_\lambda, x, \lambda), x, \lambda)}{\partial x_i} \frac{\partial v_2}{\partial x_j} \right) \\
&+ \frac{\tau \varepsilon G''(H(\sigma_\lambda, x, \lambda), x, \lambda)}{n_\lambda^a + \lambda^{m-1}\sigma_\lambda} \sum_{i,j=1}^3 \frac{\partial \psi_\lambda}{\partial x_i} \frac{\partial \psi_\lambda}{\partial x_j} \frac{\partial H(\sigma_\lambda, x, \lambda)}{\partial x_i} \frac{\partial v_2}{\partial x_j} \\
&- \frac{\tau \varepsilon G'(H(\sigma_\lambda, x, \lambda), x, \lambda)}{(n_\lambda^a + \lambda^{m-1}\sigma_\lambda)^2} \left[\lambda^{m-1} (\nabla \psi_\lambda \cdot \nabla \sigma_\lambda) \nabla \psi_\lambda + 2(\nabla \psi_\lambda^a \cdot \nabla n_\lambda^a \right. \\
&\qquad\qquad\qquad \left. + \lambda^{m-1} \nabla p_\lambda \cdot \nabla n_\lambda^a) \nabla \psi_\lambda \right] \cdot \nabla v_2 \\
&- \frac{\tau \varepsilon G'(H(\sigma_\lambda, x, \lambda), x, \lambda)}{n_\lambda^a + \lambda^{m-1}\sigma_\lambda} \nabla \psi_\lambda \cdot \nabla v_2 + \frac{\tau \varepsilon G'(H(\sigma_\lambda, x, \lambda), x, \lambda)}{n_\lambda^a + \lambda^{m-1}\sigma_\lambda} \sum_{i,j=1}^3 \frac{\partial \psi_\lambda}{\partial x_i} \frac{\partial^2 \psi_\lambda}{\partial x_i \partial x_j} \frac{\partial v_2}{\partial x_j}.
\end{aligned}$$

For $\varepsilon \in [0, \varepsilon_1]$, the differential operator \tilde{L} is elliptic. By definition v_2 is solution of :

$$\begin{aligned}
\text{(A0)} \quad & -\tilde{L}(\tau, \sigma_\lambda, n_\lambda^a, \psi_\lambda^a, p_\lambda)v_2 - \frac{\tau}{\lambda^2} G(v_2, x, \lambda)(1 - \lambda^2 \beta(\sigma_\lambda, x)) = \tau f_2(\sigma_\lambda, x, \lambda), \quad x \in \Omega, \\
& v_2 = \tau H(\lambda^{-m+1} n_{D,\lambda}^m, x, \lambda), \quad \text{on } \Gamma.
\end{aligned}$$

Let

$$\begin{aligned}
f_3(\tau, \sigma_\lambda, x, \lambda) &:= f_2(\sigma_\lambda, x, \lambda) + \frac{1}{\lambda^2} G(B_\tau, x, \lambda)(1 - \lambda^2 \beta(\sigma_\lambda, x)), \\
B_\tau &:= \tau H(\lambda^{-m+1} n_{D,\lambda}^m, x, \lambda).
\end{aligned}$$

Then (A0) can be rewritten as:

$$\begin{aligned}
\tilde{L}(\tau, \sigma_\lambda, n_\lambda^a, \psi_\lambda^a, p_\lambda)v_2 + \frac{\tau}{\lambda^2} (G(v_2, x, \lambda) - G(B_\tau, x, \lambda))(1 - \lambda^2 \beta(\sigma_\lambda, x)) \\
= -\tau f_3(\tau, \sigma_\lambda, x, \lambda), \quad \text{in } \Omega, \\
v_2 = B_\tau, \quad \text{on } \Gamma.
\end{aligned}$$

We can show that for λ small enough,

$$\text{(A1)} \quad \frac{1}{2} \leq 1 - \lambda^2 \beta(\sigma_\lambda, x) \leq C_1, \quad \forall x \in \Omega,$$

with C_1 a constant independent of λ and K . Using the result of [16] we show that, there exists $\varepsilon_2 > 0$, independent of λ , such that for all $\varepsilon \in [0, \varepsilon_2]$:

$$\int_{\Omega} z|z|^{q-2}\tilde{L}(\tau, \sigma_{\lambda}, n_{\lambda}^a, \psi_{\lambda}^a, p_{\lambda})z dx \geq 0, \quad \forall z \in W^{2,q}(\Omega) \cap W_0^{1,q}(\Omega).$$

Let $u = v_2 - B_{\tau}$. We have $u \in W^{2,q}(\Omega) \cap W_0^{1,q}(\Omega)$ and u is a solution of :

$$\begin{aligned} \tilde{L}(\tau, \sigma_{\lambda}, n_{\lambda}^a, \psi_{\lambda}^a, p_{\lambda})u &+ \frac{\tau}{\lambda^2}(G(u + B_{\tau}, x, \lambda) - G(B_{\tau}, x, \lambda))(1 - \lambda^2\beta(\sigma_{\lambda}, x)) \\ (A2) \quad &= -\tau f_3(\tau, \sigma_{\lambda}, x, \lambda) - \tilde{L}(\tau, \sigma_{\lambda}, n_{\lambda}^a, \psi_{\lambda}^a, p_{\lambda})B_{\tau}, \text{ in } \Omega \\ &u = 0, \text{ on } \Gamma. \end{aligned}$$

For λ small enough, the function $H(\cdot, x, \lambda)$ is strictly increasing and so is $G(\cdot, x, \lambda)$ by definition. Then there exists two constants C_2 and C_3 independent of λ, τ and K such that :

$$(A3) \quad C_2 u^2 \leq (G(u + B_{\tau}, x, \lambda) - G(B_{\tau}, x, \lambda))u = u^2 \int_0^1 G'(u + tB_{\tau}, x, \lambda) dt \leq C_3 u^2.$$

We multiply (A2) by $|u|^{q-2}$ and we integrate on Ω . Then using (A1), (A3), for λ small enough, by Hölder inequality,

$$\begin{aligned} \frac{C_2 \tau}{2\lambda^2} \int_{\Omega} |u|^q dx &\leq - \int_{\Omega} (\tau f_3(\tau, \sigma_{\lambda}, x, \lambda) + \tilde{L}(\tau, \sigma_{\lambda}, n_{\lambda}^a, \psi_{\lambda}^a, p_{\lambda})B_{\tau}) |u|^{q-2} dx \\ &\leq (\tau \|f_3(\tau, \sigma_{\lambda}, x, \lambda)\|_{L^q(\Omega)} + \|\tilde{L}(\tau, \sigma_{\lambda}, n_{\lambda}^a, \psi_{\lambda}^a, p_{\lambda})B_{\tau}\|_{L^q(\Omega)}) \|u\|_{L^q(\Omega)}^{q-1}. \end{aligned}$$

Then :

$$\|u\|_{L^q(\Omega)} \leq \frac{2\lambda^2}{C_2} \left(\|f_3(\tau, \sigma_{\lambda}, x, \lambda)\|_{L^q(\Omega)} + \frac{1}{\tau} \|\tilde{L}(\tau, \sigma_{\lambda}, n_{\lambda}^a, \psi_{\lambda}^a, p_{\lambda})B_{\tau}\|_{L^q(\Omega)} \right).$$

For λ small enough, there exists $\varepsilon_3 > 0$ independent of λ such that for all $\varepsilon \in [0, \varepsilon_3]$:

$$\|f_3(\tau, \sigma_{\lambda}, x, \lambda)\|_{L^q(\Omega)} \leq C_4, \quad \frac{1}{\tau} \|\tilde{L}(\tau, \sigma_{\lambda}, n_{\lambda}^a, \psi_{\lambda}^a, p_{\lambda})B_{\tau}\|_{L^q(\Omega)} \leq C_5,$$

with C_4 and C_5 constants independent of λ, τ, K . Hence :

$$\|u\|_{L^q(\Omega)} \leq C_6 \lambda^2,$$

with C_6 independent of λ, τ, K . Like in [16], we obtain, for λ small enough,

$$\|u\|_{W^{2,q}(\Omega)} \leq C_7,$$

with C_7 independent of λ, τ, K . Finally :

$$\|v_2\|_{W^{2,q}(\Omega)} \leq \|u\|_{W^{2,q}(\Omega)} + \|B\|_{W^{2,q}(\Omega)}.$$

This completes the proof of Lemma 3.6 with $\varepsilon_0 = \min(\varepsilon_1, \varepsilon_2, \varepsilon_3)$.

Proof of Theorem 3.8. In all the following, the constants C_i are independent of λ . It is clear that $u_{\lambda} = v_{\lambda} - B_1$, where $B_1 = B_{\tau}$ for $\tau = 1$, is solution of :

$$\begin{aligned} \tilde{L}(1, r_{\lambda}, n_{\lambda}^a, \psi_{\lambda}^a, p_{\lambda})u_{\lambda} &+ \frac{1}{\lambda^2}(G(u_{\lambda} + B_1, x, \lambda) - G(B_1, x, \lambda))(1 - \lambda^2\beta(r_{\lambda}, x)) \\ (A4) \quad &= -f_3(1, r_{\lambda}, x, \lambda) - \tilde{L}(1, r_{\lambda}, n_{\lambda}^a, \psi_{\lambda}^a, p_{\lambda})B_1, \text{ in } \Omega \\ &u_{\lambda} = 0, \text{ on } \Gamma. \end{aligned}$$

Since by assumption $(\lambda^{-m-1}n_{D,\lambda}^m)_{\lambda>0}$ is bounded in $W^{2,\infty}(\Omega)$, we have :

$$\|f_3(1, r_\lambda, x, \lambda) + \tilde{L}(1, r_\lambda, n_\lambda^a, \psi_\lambda^a, p_\lambda)B_1\|_{L^\infty(\Omega)} \leq C_8.$$

Let :

$$\bar{u} = \frac{2\lambda^2 C_8}{C_2}, \text{ and } \underline{u} = -\frac{2\lambda^2 C_8}{C_3}.$$

We can show that \bar{u} (resp. \underline{u}) is an upper-solution (resp. lower-solution) of (A4). Hence,

$$\underline{u} \leq u_\lambda \leq \bar{u}, \text{ and, } \|u_\lambda\|_{L^\infty(\Omega)} \leq C_9\lambda^2.$$

Using the assumption on $n_{D,\lambda}^m$,

$$\|B_1\|_{L^\infty(\Omega)} \leq C_{10}\lambda^2.$$

Hence :

$$\|v_\lambda\|_{L^\infty(\Omega)} \leq \|u_\lambda\|_{L^\infty(\Omega)} + \|B_1\|_{L^\infty(\Omega)} \leq C_{11}\lambda^2.$$

Then, using the continuity of $H(\cdot, x, \lambda)$, we obtain

$$\|r_\lambda\|_{L^\infty(\Omega)} \leq C_{12}\lambda^2,$$

which gives the first estimate in Theorem 3.8. Using the equations satisfied by the boundary layers profiles, we can show that

$$M(n_\lambda^a, \psi_\lambda^a) = O(\lambda^{m+1}) \text{ in } W^{-1,q}(\Omega).$$

Then in a same way than in [16], using the assumption on $\psi_{D,\lambda}^m$, the boundedness of r_λ in $L^\infty(\Omega)$, $\psi_\lambda^a \in C^{2,\delta}(\bar{\Omega})$, (3.5), and the strict positivity of n_λ , for λ small enough, we have :

$$\|p_\lambda\|_{W^{1,q}(\Omega)} \leq C_{13}\lambda^2.$$

This completes the proof of Theorem 3.8.

Acknowledgment Support by the European network HYKE, funded by the EC as contract HPRN-CT-2002-00282, is acknowledged.

REFERENCES

- [1] G.Ali and A.Jüngel, Global smooth solutions to the multi-dimensional hydrodynamic model for two-carrier plasmas, *J. Diff. Eqn.*, 190 (2003), 663-685.
- [2] H.Brézis, F.Golse and R.Sentis, Analyse asymptotique de l'équation de Poisson couplée à la relation de Boltzmann. Quasi-neutralité des plasmas, *C. R. Acad. Sci. Paris*, 321 (1995), 953-959.
- [3] F.Chen, Introduction to plasma physics and controlled fusion, *Vol1, Plenum Press, New-York*, 1984.
- [4] S.Cordier and E.Grenier, Quasi-neutral limit of an Euler-Poisson system arising from plasma physics, *Comm. Part. Diff. Eqs*, 25 (2000), 1099-1113.
- [5] P.Degond and P.A.Markowich, A steady state potential flow model for semiconductors, *Annali di matematica pura ed applicata*, (IV), Vol CLXV, (1993), 87-98.
- [6] P.C.Fife, Semilinear elliptic boundary value problems with small parameters, *Arch. Ration. Mech. Anal*, 52 (1973), 205-232.
- [7] I.Gasser, The initial time layer problem and the quasineutral limit in a nonlinear drift-diffusion model for semiconductors, *nonlinear Differential Equations and Applications*, 8 (2001), 237-249.
- [8] I.Gasser, D.Levermore, P.A.Markowich and C.Schmeiser, The initial time layer problem and the quasineutral limit in the semiconductor drift-diffusion model, *European J. Appl. Math.*, 12 (2001), 497-512.
- [9] I.Gasser and P.Marcati, The combined relaxation and vanishing Debye length limit in the hydrodynamic model for semiconductors, *Math. Mech. Appl. Sci.*, 24 (2001), 81-92.

- [10] D.Gilbarg and N.S.Trudinger, Elliptic partial differential equations of second order, *Springer, Berlin, New-York*, 1984.
- [11] A.Jüngel and Y.J.Peng, A hierarchy of hydrodynamic models for plasmas. Zero-relaxation-time limit, *Comm. Part. Diff. Eqs*, 24 (1999), 1007-1033.
- [12] A.Jüngel and Y.J.Peng, A hierarchy of hydrodynamic models for plasmas. Quasineutral limits in the drift-diffusion equations, *Asymptotic Analysis*, 28 (2001), 49-73.
- [13] C.Lattanzio and P.Marcati, The relaxation to the drift-diffusion system for the 3-D isentropic Euler-Poisson model for semiconductors, *Discr. contin. dyn. syst.*, 5 (1999), 449-455.
- [14] P.Marcati and R.Natalini, Weak solutions to a hydrodynamic model for semiconductors and relaxation to the drift-diffusion equation, *Arch. Rat. Mech. Anal.*, 129 (1995), 129-145.
- [15] P.A.Markowich, The stationary semiconductor device equations, *Springer, New-York*, 1986.
- [16] Y.J.Peng, Some asymptotic analysis in steady state Euler-Poisson equations for potential flow, *Asymptotic analysis*, 36 (2003), 75-92.
- [17] Y.J.Peng and I.Violet, Asymptotic expansions in a steady state Euler-Poisson system and convergence to incompressible Euler equations, *M3AS*, 15 (2005), no. 5, 717-736.
- [18] Y.J.Peng and Y.G.Wang, Boundary layers and quasi-neutral limit in steady state Euler-Poisson equations for potential flows, *Nonlinearity*, 17 (2004), 835-849.
- [19] M.Slemrod and N.Sternberg, Quasi-neutral limit for the Euler-Poisson system, *J.Nonlinear Sciences*, 11 (2001), 193-209.